
https://www.passapply.com/6103.html
2024 Latest passapply 6103 PDF and VCE dumps Download

 

 

 

6103Q&As

Avaya ERS 8000 and Avaya VSP 9000 Implementation Exam

Pass Avaya 6103 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/6103.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Avaya
Official Exam Center

 

 

6103 PDF Dumps | 6103 VCE Dumps | 6103 Braindumps                                1 / 3

https://www.passapply.com/6103.html
https://www.passapply.com/6103.html
https://www.passapply.com/6103.html


https://www.passapply.com/6103.html
2024 Latest passapply 6103 PDF and VCE dumps Download

QUESTION 1

Which statement describes a characteristic of Routed Split Multilink Trunking (RSMLT) configuration? 

A. RSMLT is only configured on edge SMLT connections. 

B. RSMLT uses priority values to distinguish between the primary and backup routers. 

C. RSMLT routers are implemented with the VRF-Lite routers. 

D. RSMLT is always used in conjunction with routing protocols and SMLT connections. 

Correct Answer: D 

 

QUESTION 2

Source MAC address-based VLANs are an example of which group of VLAN types? 

A. Policy based 

B. MAC based 

C. Address based 

D. Weighted 

Correct Answer: B 

 

QUESTION 3

A customer is concerned about the security of their network. They need to understand the OSPF authentication options
when accepting route updates in OSPF. Currently, their Virtual Services Platform (VSP) 9000 is configured to require no
authentication when receiving the OSPF updates. 

Which two supported authentication types would provide security on the VSP 9000 for OSPF updates? (Choose two.) 

A. MD5 

B. 3DES 

C. RADIUS 

D. Simple Password 

Correct Answer: AD 

 

QUESTION 4

A company has a virtualized computing environment, and their VSP 9000 can be configured so that the ports are
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considered "lossless" in their redundant network design. Which two traffic types are supported on a "lossless" port?
(Choose two.) 

A. Multicast 

B. UDP traffic 

C. ISIS 

D. TCP traffic 

Correct Answer: CD 

 

QUESTION 5

On an ERS 8000, which command is used to see the state of an installed interface card? 

A. show state  

B. show installed 

C. show slot state all 

D. show slot  

Correct Answer: D 
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